1000m /NER1~3FE BFODE

14
1 2 3’45 BE I fB#E ]S C N3
2 1 3’46 jt@m 18 AR — L N3
3 4 3746 eEE SZHB T&FEAF N3
4 3 3750 =E B— =15:5p) N3
5 5 3'54 ETE 2k T&FEAF N3
6 11 3’57 gIE 5 HIFNAS C N3
7 9 4702 MR EA T&FEAF N3
8 13 4’04 fEE BEA FIAZZ)(X N3
9 8 4’05 N = T&FEAF N3
10 7 414 EEINCEON AR — L N3
11 6 415 MK $E2 AR — L N3
12 10 444 i &= HIFNAS C /N3
13 12 447 A BREL A RY— L N3
248
1 14 401 RO R BRAHkE L= N3
2 19 4’02 1EE BA T &FEAE N3
3 21 420 hi B2 ERTE/N N3
4 15 4’23 Hig BEA A BRI N3
5 23 47’24 B fER fEARY— L N2
6 20 430 KA LA EAR/NER N3
7 17 4’39 SBE HH T&FEAFE N3
8 24 448 NY 7 N EARY—L N2
9 18 4’58 XEF 05 T &FEAE IN3
10 16 DNS bl B BEmI37 IN3
11 22 DNS B IgF] A RY— L\ N3
12 25 DNS it R HEFRS C N2




3%

1 31 417 HwH = fB#] S C M
2 32 417 wmE B8 fE#] S C I\
3 33 4'27 LI BRME ERAfIpE L= M
4 36 435 s BEEA T&FEAF I\
5 28 4736 g B FRIAZZ)NX N2
6 26 4'36 A R EAR)=L N2
7 37 4’54 R BE¥ T&FEAF I\
8 38 4’55 X Rt FARNER I\
9 35 5'37 INMRAE HIT PEARER/N I\
10 34 5’52 NGRS PEARER/N I\
11 27 DNS B0 B EAR)=L N2
12 29 DNS PR B SREN N2
13 30 DNS WL #skE - /N2




